letuve # &4

U.@L‘gﬁ PLL
5 V ~ <Q..._n fN.._. @oﬂvx% = N@
_ _
MN , o 3= L .s?uu%.??mﬂw ~In [1-Z5)
_ Vo = lep-R+ lpT [ 147 1 3
T 2¢ \ o 2z L[z @
TL=m 317k
— Y _  taz! g oo L oL
E.:T./\ X(z)  tozl g T =
. _ =2 1=z
o) &:3.. fmps‘: = A (WA N () T (!
YUY = Yl + (A ()
—— S — v
Vg = lepR + LT [ L v
c, 2 1-2
. _ . _ T
Ve () = Kp Lyt _Aﬁfvlﬂ_\\N\\_ , Kp: R, K4 = 5C



Tn]—ids] 5
—| Ve i Clyom= ) - (o)
e _AHH_ - &czq 4 )
et v
\ fM.FSAV |.D_.M—_n —

= To Typr e | \AH_S %
.
o n
Y = «ﬁs\ﬂwm Kt x(n)
hy hir@@ﬁ e D
Tri . | _

—'.\\

-Teq s Tey]



Krge = (M) -0
Ox

v
- -1 = NS|_ nHv HS\.‘UP
&, —3D e - e
-t

Py
Ppe 7 = A 6inln] \&??H_VRQ\ + o)
 a—

n'bow . .0
—

nlor s

A 160
bw.

Stoc = B &
TnC _N,ﬂ

' |
— —_——

G&\N - / —./ _7 ___ '
— 5Bl :










